a(6 @) (rad)

=
2
N

Ratio

ooa )(cm)

Ratio

Xy

a0 p,/p,)

(RN
<

1.UD

||1||1|1||1|1|uuuunuunuuumuluuunlul|‘

0.95

i ||IIIIII.IIIIIIIIII.IIIIIIIIII.IIIIIIIIII.IIIIIIIIII.IIIII]|‘

=3

0 1 2 3
TP n (PCA to beamline)

-2 -1

a(d cot(B))

105
||Imuluumumumuumumuuuull |
1k
|||nnmnmnmnnmmnmnnnnnn| |
0953 =510 3

TP n (PCA to beamllne)

—— DQM_TT__mkFit-DQM_newfast132

—=— ././CMSSW_13_2_X_2023-05-08-2300/src/DQM_TT__mkFit-DQM_new132

11'||IIIIIIIEIIIIIIIIIIEIIIIIIIIIIEIIIIIIIIIIEIIIIIIIIIIEIIIIIII|

oot Bttt

lo—l -

1072

=3

0 1 2 3
TP n (PCA to beamline)

-2 -1

L0 L L L
LU i

0.95

0 1 2 3
TP n (PCA to beamline)

I, E—

= I
S
’U\N
ko)
I}
107" :
1072
....|....|..'1- |'.'-°';}'..|....|...'.'
o v
I 11 |
e | L T M e
| |IIIIII|I||IIIlnnnunnllllllllllllllll||
0955t T 2 3

TP n (PCA to beamline)



	Contents
	Page 1


